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<!--Exames.xmk-—->

|<Data>

| <Frames>

<!--Base pf kinsmakic shain——>

<Frame name="fob base" base="" a="0" b="0" g="0" x="0" y="0" z="0O" I=

<!--Reipsr L3Ems L0F =RLiRzakicn. IRiAZ LXEms i3 AMsnRical 33 IRek. Ruk has margin L9z saiikiakism---

<Frame name="ptu base offset" base="fob base" a="0" b="0" g="0" x="0" y="0" z="0" min =="-1000" max x="1000" min_ y="-1000" max_y="1000" min_ z="-1000" max_z=“1UDD“H>

<!--real TF fzom FoBBase (with galibrakien offsst) se PTU-->
<Frame name="ptuo base" base="ptu base offset" a="0" b="0" g="0" x="923.776+683" y="332+873" z="158.5-549.5-95.0"/>
g:FIamE name:llmll base:llptu_basell a=IIDII h=IIDII g:ll_45ll 1J3=IIUII x:ll DII z=IIU n ,f}

<!--helper fzams £9% PTU pan impuh (Variable gnd data=hius)-->
<Frame name="ptu pan" base="ptu" a="0" b="0" g="-([1])}" =="0" y="0" z="0" data="Lrume" />

<I--hRiRsE frams fRx FTU RiAR inmnk (Varisble gpd daka~Rius)--—>
<Frame name="pto tilt" base="ptum pan" a="([2])" b="0" g="0" x="0" y="0" =z="0" data="Lrme"/>

<!--TF from PTU fo camera-—->
<Frame name="camera left frame" base="ptun_tilt" a="9%0" b="0" g="0" x="-70" y="-37" z="-128+95" >

<!--Dakapnint Rf shecksrbrazrd in gamexra frams (Variables gpd dafa=hzus) —-—>
<Frame name="checkerboard camera" base="camera left frame" =="([10])*1000" y="([11])*1000" =z="([12])+*1000" data="gLrug" />

<!--Datapeink of fob Rracksr in fob base frame (Variables gnd daka=nius)——>
<Frame name="tracker left raw" base="fob base" x="([3])*1000" y="([4])*1000" z="([5])*1000" qw="([6])" ax="([71)" qv="([81)" gz="([91)" data="grue" />

<!1--0ffset from Lracker Lo checkerboard point-—->
<Frame name="checkerboard tracker" base="tracker left raw" a="0" b="0" g="0" =="0" y="0" z="20" />
< /Framss>

| <Goal>

<!--March both gheckerboard points (Ehey arxs Lhe Same ReinLs in real)-->
<Position first="checkerboard camera" second=“checkerboard_ﬁracker“f>

<Orientation first="checkerboard camera" second=“checkerboard_ﬁracker”f)
< fGoal>
<fData>



Optimization Result:

vdlug, U.0u0/34 AL U.IILL40 U QY804 U 0D/LIUYD U 4P5LEY U, JODLELL U 499 lig

value: 0.686734 X: 0.331140 0.497854 0.671095 0.498129 0.766122 0.499124

Value: 0.686734 X¥: 0.331139 0.497854 0.671096 0.498129 0.766122 0.499124

Value: 0.686734 X: 0.331140 0.497854 0.671095 0.498129 0.766122 0.499124

value: 0.686734 X: 0.331140 0.497854 0.671095 0.498129 0.766122 0.499124

vValue: 0.686734 X: 0.331140 0.497854 0.671095 0.498129 0.766122 0.499124

Value: 0.686734 X: 0.331140 0.497854 0.671095 0.498129 0.766122 0.499124

Best: 0.686734

Result:

0.331140

@.497854

0.6716895

0.498129

B.766122

0.499124

0.686734 0.331140 0.497854 0.671095 0.498129 0.766122 ©.499124 0.686734

Final result: i
Result: <Frame name="ptu base offset" base="fob base" a="-158.165" b="88.3969" g="-157.948" x="-0.101316" y="-0.00128745" z="0.102657" /= new Opt]ma] Frame
Position (xyz): -0.101316 -0.001287 0.102657 Quaternion (wxyz): 0.697861 -0.005036 0.716212 -0.002358 EulerAngles{ZXZ): 90.209261 91.488106 -9

< resilt -=> This can be used for any static_transformation_publisher or URDF

Showing final result:

Value: 0.686734

Values: 0.33114 0.497854 0.671095 0.498129 0.766122 0.499124

Name: ptu_base offset Position (xyz): -0.101316 -0.001287 0.102657 Quaternion (wxyz): 0.697861 -0.005036 0.716212 -0.002358
[kinematic chain optimizer-1] process has finished cleanly



<!-—-after calibration.launch --=>

<launch>

<nede pEg="L£L" Lype="static_transform publisher"
<node pEg="L£L" Lype="static_transform publisher"
<neds pEg="L£Lf" Lype="static_transform publisher"
# input: PTUPan

# input: PTUTilt

<npde REg="LL" Lype="static_transform publisher"
<flaunczh>

<!--before_calibration.launch —->

<launch>

<nede pEg="LL" Lyps="static_transform publisher"
<nepde pEg="LL" Lype="static_transform publisher"
<npde RET="LL" Lype="static_transform publisher"
# input: PTUPan

# inpui: PTUTilt

<nnde pkg="Lf" Lype="static_transform publisher"
</ launch>

namg="calibration publisher 0"
namg="calibration publisher 2"
namg="calibration publisher 3"

name="calibration publisher 7"

namg="calibration publisher 0"
name="calibration publisher Z"
name="calibration publisher 3"

name="calibration publisher 7"

args="-0.101316 -0.00128745 0.102657 -0.005036 0.716212 -0.002358 -0.697861 fob base ptu base offset
args="1.606780 1205 -0.486000 0.000000 ©0.000000 0.000000 1.000000 ptu_base_ offset ptu_base loo0"/=
args="0.000000 0.000000 0.000000 0.000000 0.000000 0.523880 -0.382683 ptu_base pry 100"/

azgs="-70.000000 -37.000000 -33,000000 0.707107 0.000000 0.000000 0.707107 CameraRot Gamera 1007"/>

2rgs="0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 1.000000 fob_base ptu base offset 100"/>
args="1.€06780 1205 -0.486000 0.000000 0.000000 0.000000 1.000000 ptu base offset ptu base 100"/>
args="0.000000 0.000000 0.000000 0.000000 0.000000 0.523880 -0.382683 ptu _base ptn 100"/>

args="-70.000000 -37.000000 -33,000000 0.707107 0.000000 0.000000 0.707107 CameraRot Gamera 1007"/>

100"/



